ER96 TOF Measurement Resolution

To obtain timing resolution of TOF system,
start with o(neqs70F-catcror) for A — p candidates
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O (measTOF—caleTOF) ~ 145 ps across all slats
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beale = tparent + tdaughter; t= E\/@

Typical values for A — p paths, times:
dparent = 134.3 cm; pparent = 8.47 GeV /c
d(/((,u‘(////(\l' = 479.2 CIM; Pdaughter = 7.79 (;Cv\v/(‘

Assumed uncertainties:
Odpyery = 1 CIM (vertex position res.)
J— )
Opparent/ Pparent = 1 %0 (mom’n res.)
Odgaupnier = 1.0 cm (path length calc.)
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O panonter! Pdaughter = 2 % (mom’n res.)

After smearing effects included:
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Ot prent-Hanugnier = 89 DS = Tcateror (contrib. from tracking, exp’t geom.)

— hence, E896 TOF “start/stop” resolution:
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OmeasTOF ~ \/UmeasTOF—calcTOF ~ OcaleTOF ™~ 120 ps




